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QUESTION 1

Two management VPLSs have been created. mVPLS 1 and mVPLS 2. Two user VPLS services exist. uVPLS 10 and
uVPLS 20. What command can be used to determine which management VPLS is managing uvVPLS 10?

A. show stp 10

B. show service vpls 1 stp

C. show service id 10 stp

D. show service id 1 stp or show service id 2 stp

Correct Answer: C

QUESTION 2

What is the MTU impact on the SDP path-mtu if fast reroute facilities-mode is implemented on the LSP?
A. There will be no impact on the path-mtu.

B. The path-mtu will decrease by4 bytes.

C. The path-mtu will increase by 4 bytes.

D. The path-mtu will decrease by 8 bytes.

E. The path-mtu will increase by 8 bytes.

Correct Answer: B

QUESTION 3

The "discard-unknown" command has been enabled at the VPLS level. Which of the following statements is true?
(Choose 2)

A. Broadcast traffic will be flooded.

B. If the unicastSA has not been learned in the FDB, the frame will be dropped.
C. If the unicast DA has not been learned in the FDB, the frame will be dropped.
D. All traffic will be dropped, including multicast and broadcast.

E. Broadcast traffic will be dropped.

Correct Answer: AC
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QUESTION 4
How is the Primary Bridge chosen in a VPLS?

A. The PE devices participating in the VPLS mesh run a separate Spanning Tree instance in the Core. The Primary
Bridge is the Root Bridge for the VPLS mesh.

B. The PE devices participating in the VPLS mesh determine which bridge is closest to Root Bridge. This bridge
becomes the Primary Bridge.

C. The PE devices participating in the VPLS mesh determine which bridge has the lowest bridge-id. This bridge
becomes the Primary Bridge.

D. The PE devices patrticipating in the VPLS mesh determine which bridge is the Root Bridge. This becomes the
Primary Bridge.

Correct Answer: B

QUESTION 5

Which of the following are required for an operational mesh-sdp binding for bidirectional traffic when signaling is enabled
within the SDP? (Choose 3)

A. LDP must be enabled.

B. RSVP must be enabled.

C. An SDP must be configured on the far-end.
D. Service MTU must match.

E. SDP ID must match.

Correct Answer: ACD
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